[ Efficiency vs vertpos |

0.5
0.45
0.4
0.35]
0.3
0.25
0.2

0.15H-

0.1
0.05

Ja)

.................................................

.................................................

............................................

VS

IIIIIIIIIIIIII TTTT II.IIIIIIIIIIIIIIIIIIIIIIIIII
_L._!_ P
— :
: L
e
— .
L —— :
— :
- :
—+ :

0.95L : : :
1072 107 1 10 10?

—=— DQM_TT__mkFit-DQM_pless_orig

Efficiend —— pQm_TT__mkFit-DQM_pless_modi3

0.5
0.45
0.4
0.35
0.3
0.25
0.2
0.15
0.1
0.05

¢-\Q_"

093 —-20 -10 0 10 20 30

0.5
0.45
0.4
0.35
0.3
0.25
0.2
0.15
0.1

0.952

15 =10 5 0 E 10 1520



	Contents
	Page 1


